B N ERE

1. LEA4

T4 AT AFEE A E AR EEE

T4 g EmEAETN ) - wm ik, AE gk, =Dk |
PHE IR F AR ARG IR (FaBP)I - RIFA N biedak, 959 | _EJiig)

2. TENE

1) EH4

n

BRWYIEHET T B &)

2) T I& ROBE « MY T

3) T £ 365 H [ H SF TH 48 1H
£ 4S50 84 3H31H

4)  TEHEgHE

Esimd Aokt 56w




Coris R m it (B0 - @i i, A, =]

Vaviarel =1
HE R E
T4 | A7 FEAEIENREEE
THEXSy - THE - Fl5 A B & & B # il g B
bk = 1 15, 125, 700
Jea AL T Y 1 15, 125, 700
AL R T =, 1 12,900, 700 |ISAHEEA 30 H
EWEER 2AN/H
IS E¥B 30 H
FREREEER 2A/H
INCYES® 30 H
TAR—MRAMEER 2A/8 ;
IEE¥D 30 H
RIEFEEER 2AN/H
ISEEEE 30 H
B U7 NIyt EERFAT
INNCYGESY 30 H
B U7 My rAtRE BT
ISEEHEG 30 H
P U7 Ny s10tEE TEER AT
I EREH 20 H
BH/n=7% L0, 28m3 (JLFKO0. 20m3)  FE#H= T+ ;
NSNS 20 H
BH/n=7% L0, 45m3 (JLFKO. 35m3)  JEH=T-fF ;
IR T 20 H
BH/n=7% L £50. 80m3 (10, 60m3)  JEH=T-AF
B =X 1 2,225,000 4= r U —Fk 50 m3
18-8-40BB W/C=60% ;
a7 )—Fh 50 m3
21-8-40BB W/C=60% ;
BEI Ty Y —T 50 m3
RC-40 ;
EHE T = 1 15, 125, 700
It =Y 1 1, 899, 000

-1 - ESR o3 E < o] 3 ok S



Coris R m it (B0 - @i i, A, =]

RN E
THEAL | A7 EEAE)IEN R
THXSy - TH - fly HOfr ¥ & & fH # bl N g
ol # (RE L) v 1 1, 899, 000
Wi TR v 1 17, 024, 700
B Bt X 1 6, 872, 000
TRl v 1 56, 616, 000
—fRE R % v 1 9, 574, 000
T fifik& v 1 66, 190, 000

-2 - ESR o3 E < o] 3 ok S



DRI - b 1 ek

Vaviarel =1
B NERE
T4 | A7 FEAEIENREEE
THEXSy - THE - Fl5 A B & & B Al ] A 7
iz} E2V 11, 866, 600
S AL T = 11, 866, 600
AT R T X 9,641,600 |JHERfEEA 20 H
EEEER 2AN/H
IS E¥B 20 H
FEEREER 2A/H
INCYES® 20 H
TAR—MRAMEER 2A/8 ;
IEE¥D 20 H
RIEFEEER 2AN/H
ISEEEE 20 H
P Nvi2tkE BT
INNCYGESY 20 H
PNy AtRE BT
ISEEHEG 20 H
P U7 Ny s10tEE TEER AT
I EREH 20 H
BH/n=7% L0, 28m3 (JLFKO0. 20m3)  FE#H= T+ ;
NSNS 20 H
BH/n=7% L0, 45m3 (JLFKO. 35m3)  JEH=T-fF ;
IR T 20 H
BH/n=7% L £50. 80m3 (10, 60m3)  JEH=T-AF
G = 2,225,000 [A=> 27 U—h 50 m3
18-8-40BB W/C=60% ;
a7 )—Fh 50 m3
21-8-40BB W/C<60% ;
BEI Ty —T 50 m3
RC-40 ;
BB T = 11, 866, 600
5w = 1, 579, 000
-3 - ES I Pl E N o oFe o3 o)




FNER

DRI - b 1 ek

THE4 | BT EEAE)IE N R EEE

THXSy - TH - fly HOfr ¥ & & fH # bl N g
ol # (RE L) v 1, 579, 000
Wi TR = 13, 445, 600
B Bt v 5,702, 000
TRl = 19, 147, 600

i@ Aokt 5w m




L E L itk

Vaviarel =1
B NERE
T4 | A7 FEAEIENREEE
THEXSy - THE - Fl5 A B & & B # ] ) 7
bk = 2,632, 900
AT = 2,632,900
AR T & 2,410,400 |IERIEEA 5 H
EWEER 2AN/H
IS E¥B 5 H
FREREEER 2A/H
INCYES® 5 H
TA—fEMEEE 2A/H
IEE¥D 5 H
RIEFEEER 2AN/H
ISEEEE 5 H
P Nvi2tkE BT
INNCYGESY 5 H
PNy AtRE BT
Invst=de 5 H
P U7 Ny s10tEE TEER AT
I EREH 5 H
BH/n=7% L0, 28m3 (JLFKO0. 20m3)  FE#H= T+ ;
NSNS 5 H
BH/n=7% L0, 45m3 (JLFKO. 35m3)  JEH=T-fF ;
IR T 5 H
BH/n=7% L £50. 80m3 (10, 60m3)  JEH=T-AF
G = 222,500 (=2 Y — |k 5 m3
18-8-40BB W/C=60% ;
a7 )—Fh 5 m3
21-8-40BB W/C<60% ;
BEI Ty —T 5 m3
RC-40 ;
R T N 2, 632, 900
B =Y 412, 000
-5 - = 22im Aokt 5Bl




FNER

L E L itk

THE4 | BT EEAE)IE N R EEE

THXSy - TH - fly HOfr ¥ & & fH # bl N g
ol # (RE L) v 412, 000
Wi TR = 3, 044, 900
B Bt v 1, 479, 000
TRl = 4, 523, 900

i@ Aokt 5w m




(K ) 1] ke

Vaviarel =1
B NERE
T4 | A7 FEAEIENREEE
THEXSy - THE - Fl5 A B & & B # ] ) 7
bk = 2,632, 900
AT = 2,632,900
AR T & 2,410,400 |IERIEEA 5 H
EWEER 2AN/H
IS E¥B 5 H
FREREEER 2A/H
INCYES® 5 H
TA—fEMEEE 2A/H
IEE¥D 5 H
RIEFEEER 2AN/H
ISEEEE 5 H
P Nvi2tkE BT
INNCYGESY 5 H
PNy AtRE BT
Invst=de 5 H
P U7 Ny s10tEE TEER AT
I EREH 5 H
BH/n=7% L0, 28m3 (JLFKO0. 20m3)  FE#H= T+ ;
NSNS 5 H
BH/n=7% L0, 45m3 (JLFKO. 35m3)  JEH=T-fF ;
IR T 5 H
BH/n=7% L £50. 80m3 (10, 60m3)  JEH=T-AF
G = 222,500 (=2 Y — |k 5 m3
18-8-40BB W/C=60% ;
a7 )—Fh 5 m3
21-8-40BB W/C<60% ;
BEI Ty —T 5 m3
RC-40 ;
R T N 2, 632, 900
B =Y 412, 000
-7 - = 22im Aokt 5Bl




FNER

(K ) 1] ke

THE4 | BT EEAE)IE N R EEE

THXSy - TH - fly HOfr ¥ & & fH # bl N g
ol # (RE L) v 412, 000
Wi TR = 3, 044, 900
B Bt v 1, 479, 000
TRl = 4, 523, 900

i@ Aokt 5w m




= it

Vaviarel =1
B NERE
T4 | A7 FEAEIENREEE
THEXSy - THE - Fl5 A B & & B # ] ) 7
bk = 2,632, 900
AT = 2,632,900
AR T & 2,410,400 |IERIEEA 5 H
EWEER 2AN/H
IS E¥B 5 H
FREREEER 2A/H
INCYES® 5 H
TA—fEMEEE 2A/H
IEE¥D 5 H
RIEFEEER 2AN/H
ISEEEE 5 H
P Nvi2tkE BT
INNCYGESY 5 H
PNy AtRE BT
Invst=de 5 H
P U7 Ny s10tEE TEER AT
I EREH 5 H
BH/n=7% L0, 28m3 (JLFKO0. 20m3)  FE#H= T+ ;
NSNS 5 H
BH/n=7% L0, 45m3 (JLFKO. 35m3)  JEH=T-fF ;
IR T 5 H
BH/n=7% L £50. 80m3 (10, 60m3)  JEH=T-AF
G = 222,500 (=2 Y — |k 5 m3
18-8-40BB W/C=60% ;
a7 )—Fh 5 m3
21-8-40BB W/C<60% ;
BEI Ty —T 5 m3
RC-40 ;
R T N 2, 632, 900
B =Y 412, 000
-9 - = 22im Aokt 5Bl




FNER

= [E bk

THE4 | BT EEAE)IE N R EEE

THXSy - TH - fly HOfr ¥ & & fH # bl N g
ol # (RE L) v 412, 000
Wi TR = 3, 044, 900
B Bt v 1, 479, 000
TRl = 4, 523, 900

,10,

i@ Aokt 5w m




